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() 160,000 years ago to present
(I) 200,000 to 30,000 years ago
(III) 1.8 to 0.2 mya
(IV) 1.9to 1.5 mya
(V) 24to1.6mya
(VD) 3.0 to 2.4 mya
(VII) 2.2 to 1.0 mya
(VIID) 3.5 to 3.3 mya
(IX) 4.0to 2.7 mya
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NOW YOU ARE READY TO SOLVE

THE MYSTERY OF THE skuULLS!



NOW THE MYSTERY OF THE SKULLS

WTILL BE REVEALED!
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Homo
neanderthalensis

b N E

Homo sapiens Homo erectus
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Homo ergaster Homo habilis Australopithecus
afarensis
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Work Station 3
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Paranthropus  Kenyanthropus Australopithecus
boisel platyops africanus
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Phylogenetic
Tree
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